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Q1: 
32-bit linear address

4096 bytes= 4K page size

I M= 232
Maximum pages in a process address space = 232 / 4K

Number of bits needed for d = log2 4K bits = 12 bits

Number of bits needed for p = 32 – 12 bits =20 bits

Q2: 

If the printer starts to print a file before the entire file has been received (this is often allowed to speed response), the disk may fill with other requests that can’t be printed until the first file is done, but which use up disk space needed to receive the file currently being printed. If the spooler does not start to print a file until the entire file has been spooled it can reject a request that is too big. Starting to print a file is equivalent to reserving the printer; if the reservation is deferred until it is known that the entire file can be received, a deadlock of the entire system can be avoided. The user with the file that won’t fit is still deadlocked of course, and must go to another facility that permits printing bigger files

